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Multiplikationsibungen (10-er) Name:
L 0se jede Aufgabe.
5¢10= 210= 1«10= 9.10=
6¢10= 10+ 10= 3«10= 710=
4.10=_ 8¢10=_ 210= 3¢10=
10+ 10= 8¢10=_ 7¢10=_ 110=_
5¢10= 9.10=_ 6¢10=_ 4.10=_
3.10= 4+10= 7.10= 10+ 10=
6¢10=_ 9.10=_ 8«10=_ 110=
5¢10= 210= 7¢10=_ 3«10=_
1«10= 210= 5¢10= 6¢10=_
8¢10=_ 9.10=_ 10+ 10= 410=_
6¢10=_ 9.10=_ 1«10=_ 210=
3«10= 7.10= 5¢10= 8.10=
10«10 = 4.10= 104=_ 10+ 10=
102=_ 107=_ 10«1=_ 105=
10«6=_ 10.9=_ 108=_ 103=_
10.9=_ 101=_ 105=_ 108=_
10+ 10= 10e2=_ 10«4=_ 10¢3=_
10«6=_ 107=__ 10«1=_ 10«6=_
108=_ 107=__ 105=_ 10.9=_
10¢3=_ 10«10 = 10e2=_ 10«4=_
10«6=_ 10¢3=_ 10+ 10= 10«4=_
10.9=_ 10e2=_ 107=__ 10«1=_
108= 10¢5= 10¢3=_ 10¢1=
102=_ 10+ 10= 10«8=_ 10¢5=
107=_ 10«6=_ 10«4 = 10+ 9=
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Multiplikationsiibungen (10-er) Name: L Osungsschlissel

L 0se jede Aufgabe.

5¢10= 50 210= 20 1-10= 10 910= 90
610= 60 10 10= 100 3«10= 30 710= /0
4.10= 40 8«10= 80 210= 20 310= 30
10« 10= 100 8+10= 80 710= /0 1-10= 10
5¢10= 50 910= 90 610= 60 4.10= 40
310= 30 4.10= 40 710= /0 10 10= 100
610= 60 910= 90 8+10= 80 1-10= 10
5¢10= 50 210= 20 710= 70 310= 30
1«10= 10 210= 20 5¢10= 50 6¢10=_ 60
8¢10= 80 910= 90 10+ 10= 100 4.10= 40
610= 60 910= 90 1-10= 10 210= 20
310= 30 710= 70 5¢10= 50 8¢10= 80
10-10= 100 4.10= 40 10.4= 40 10-10= 100
10.2= 20 107= 70 10-1= 10 10«5= 50
10e6= 60 10.9= 90 10-8= 80 103= 30
109= 90 10-1= 10 105= 50 10.8= 80
10« 10= 100 10.2= 20 10-4= 40 103= 30
10e6= 60 10« 7= 70 10-1= 10 10e6= 60
108= 80 10« 7= 70 105= 50 109= 90
10«3= 30 10« 10= 100 10.2= 20 10«4= 40
10«6=_ 60 10¢3=_ 30 10« 10=_ 100 10«4=_ 40
109= 90 10.2= 20 107= 70 10«1= 10
108= 80 10«5= 50 103= 30 10«1= 10
10.2= 20 10-10= 100 10.8= 80 10«5= 50
107= 70 10e6= 60 10-4= 40 10.9= 90
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